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Answer any five questions. Good luck!

(3
Marks
CO |RBT
Explain the Rankines method of deflection angles for setting out a simple circular curve. 10 bd JLLL2
; :
2 [Two tangents intersect at a chainage of 59+60, the deflection angle being 50°30'. It iy 10 b4 iz
required to connect the two tangents by a curve of radius 15 chains. Taking the peg interval
as 100 links, calculate the necessary data for setting out the curve by offset from chords
produced method. Take length of the chain as 20m (100 links).
3 Draw a neat sketch of compound curve giving the various elements. Also explain the 10 ..
method of setting out the compound curve.
r 4. [Explain with neat sketches, the various triangulation systems. 10 S
S Q)(Ldf <)\
P.T.O
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Marks

5 |Calculate the ordinates at 10 m distance for a circular curve having long chord of 80 m and, 10 b4 JLLL2
a versed sine of 4 m.

6 |A compound curve consists of two simple circular curves of radii 350m and 500m and is to, 10 bA fLidl
. |be laid out between two straights Tl and IT,. PQ is the common tangent at the point of
compound curvature D. The angles [PQ and IQP are 55°00' and 25°00' respectively. Sketch
and calculate the distances of the tangent points T,1 and IT.

7. [Explain Satellite station and reduction to centre.

C.L

Page 2 of 2




‘SC L)e DE. 9 S@‘ \\’Q —_— 33* jﬁn‘l@’s’h&t( ASSege W)@y{r TosT
97/%/%‘% Advanced S Vealne — \Tovie.

J ()

+ Sek bp the theodolide ak pewit of Ahe cwve T . loeth

‘(\UW Y\L\i% Ch*wecﬂ ‘o Zem,zeml AL\(EQ:‘T the  the oda Itte

)(o biSe et e ? T. - \N.

o QQ,\QDU;Q, jé\@ \Vexamie ¢ Tjujé OJ’)CX\ Sok que/ O‘U)g\e A‘ > e

Vesmex. T\WQ e O‘Sr S;S\Nb TTAL Yord be o J%’)e_ o el TA
* WY Zove end 8 Ahe tage poinded aX T, and avvew heid

Ok T\P‘: (&, \%L&iwcd e "kcrgsge Qv ound T, B Ahe Qwow is

b‘S%)E@AK \'O\)Y /Bﬂe, C{Qgg %Q:u(s‘ TRLU;, "}(\)Q) FOE\/T& A 1S f?iid"'

¢ Sek the A‘eiﬁ\eg/&\\@q @mS\e Az > /B& Vevvier Se thoek the

’ \w/\e, Gfr 6\8% 1S a&@ha Ahe Kve Ty B

¢ peulhy dhe laxc end é;% e J@u;:g \-;wweo\ at A aond Quvow
held ok A% = ‘\, Swma the totpe axouod A N the arvew
15 bisected b‘,} the Cross heaave Ay, Yixivg the  poind B

Re\%d& S%q,@ A2y Abe ewci} f)mw‘c 16 Yeached I%B=

F\\Sui{ @M
/T\\@mcx@.&’ ‘&n‘(ﬁ\ (T> iz "i{ o <_§_> = \S tow (9\50 15 > < Tt Q’M")

~ T.eT% 20 = L] 4& w.

)@@« o Casve (D= FRI = FRSE5ER' | o sl

14

> b oy

10

&’ | &e®
= \%99%20 = 26k Lkw:

Q&\O@“"“\\@ @ P1T. = 594 Lo = \199- 00w

Beém}fmygw length ()= T 07 = \61.%8Y




b

C\)(&lwﬁge, al  peCe 59+ 2.6 - 165052,

Add tengh ot Curve (1)

\y

s + 221 = 2604 42w

Q\f\ww&ge o Ty = 6 4+ T .} = \2V4-Q4 w.

O 8 Masky
@ - \obo—-1050-52wm = Q48w /O\,: 131 -Qy ~ 13c0 = 14-A¢ w

(\J\um\»w @‘g/ %i&u\ dﬁ@(t;& - |3e0— 1060

TR
2.0
8‘ = 8wl = (Tsax @b - She3p = 0 Sk 14"
g 860

- & - - 5 R R.o4 o LI L
82_ 83g Slf\ . g\o_ S\\ - %2: 8\5” N\%Mﬁ - | 54 3¢
% \C( 400

. 1.9 . \

H‘\' AL CM = tOQS\BQ“ @BMQ‘%I\Q}

3eo

P Paodlon of detadled fable = OL Masks

Jkereh — 02 wasl  Betorled precedure = OT Wl

Stelehet — 03 wmesky  Pebagled precedure = 0TV

TW)% ¢ 8- fwpor

(N @M) ot
= %AMHG: ;2/_ 6o

- [6!@: £R R=9m

Q_A C‘O = ‘2(2?9_——!* = 1G8wm- — O = Maskn

loMe

{6 Mecs




Cr = \/RQ——D(Q' - (R-0)
C!O - \) s g
@07/> ~ [0 — 9% = 8.5 w.
C
20" @D (2™ — M8 - 3.5m
O\ = ol 9
A0 @Oi) ~@0> — 195 = 176w
0, - |
leo @09/>2f@m>L — 198 <= Ow  _  semeb |lo
Mas k

Qdd \emg«t% ,QL

1oz £ tan [ 4
3 : : | - .
& £> b 350 /EOul <55§> - IQQ-?O\»/
o R ke (4
2 | T (é{l) = 500 4, (2572) = }1e-9s.,
TS: %S U C{s* {L> g?ifiﬂ_ = B30T hm
Sin s
LI St ol £) Sa s by, Ot wask
[n A
Qmm%e/ o PI- kT = 1oereem
Deduet ‘U)j)@\ Ta = 20T - 9 6w
QS’W%W&TV S T, = |kq2-elkw
Add Jongth g = A%5 . qsy
G,Sﬂ&xWQ§Q, ot pP-eoc. = 189g. 00w

— 218 . 17m

—




Q\qmmﬁ& ak Te = 20L€ 19w, OL wusk
)l o K R_g -/—\1 =
g = 3%5 4?8\7)) &L — WRL AQ = l‘S’WW)
1 Sv ) &p® CLmask | lop
S¥exeh @mq%) Ex F\ouncd%q = @mmb) Ll

830‘ C% 8@)6 e .




